r o
otal No. of Printed Pages—6
5 SEMTDCPHIG 1

2016
( N'gvember )

PHILOSOPHY
( General )

Course : 501
[ Logic (Indian and Western) |

Full Marks : 80
Pass Marks : 32 (Backlog) / 24 (2014 onwards)

Time : 3 hours

Th'eﬁgur es in the margin indicate full marks
for the questions

1,
e T /om W‘C'BT 7fp Bfeed ¢

Answer/ Find out the correct answer :
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three / two terms.

1x8=8

Anumana has
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Is the method of residue deductive?
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- Predicate term,
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Deduction is the third / fourth stage of
hypothesis.
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‘FESAPQ’ is the third / fourth valid mood
of syllogism.
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Impersonal sentence is subject-less /
relational proposition.
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In symbolic logic, two / four types of
symbols are used.
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Universal propositions distribute subject /
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2/V symbol is used for implicative
Proposition,
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Write short notes on (any four ) :
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Hume's view on problem of ind
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méthod of difference
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Disadvantages of the
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Validity and truth

IR 916

Structure of Anumana - °
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Disjunctive propositio? -
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Explain the characteristics of symbolic logic.
What are the advantages of using symbols?
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Construct truth table of the following and
determine whether tautologies, contradictory or
contingent expressions :

@ ~p-~q)=(~pv~q)

(b) (p-q)v(~p>q)

(C) [(PV‘I)"“p]Dq

(d) P>(pvq)
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How many propositions are there, according to
modern classification? Explain with examples,
different kinds of compound proposition.
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4+7=11

3+3+3+2=1 1

3+8=1}
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What is Venn diagram? Test the validity.of the
following two arguments using Venn diagram
technique : '

| (a) AAI—oOW TETS

AAI in Third figure
(b) EAE—eaiq KEM®
EAE in First figure
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What do you mean by categorical syllogism

: ts:
Test the validity of the following arguments
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He will get the job, for he 182 player and
s ible for the post.

only the players are elig
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All educated men are intcmgent, as he is

educated, he cannot be intelligent.
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Explain the method of concomitant variation with
examples. . 3

w237 /Or

TR I @ACA? 9. . BRET T© SPIR 2wl
SIPTR T A 3+8=1

What is hypothesis? Explain different kinds of
hypothesis after L. S. Stebbing.
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